Algebra 1 Mid-Chapter 3 Review

Name

Instructions:

Date

e For all equations - Solve. Clearly show ALL steps. Check.

LESSON 3.1 Practice C

4) y+105=-94

6) m+625=35
Y:."q*q M- -8

14) { ]
13) Y =23 3)7 N:}_“ __‘é’.)
4 3 (3’ Z 4
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21) Tallest Mountains Mount Kilimanjaro, the
tallest mountain in Africa, is 1088 meters taller
than Mont Blanc, the tallest mountain in
Europe. Mount McKinley is the highest point in
North America at 6194 meters. Mount
McKinley is 1387 meters taller than Mont
Blanc. How tall are Mount Kilimanjaro and

Mont Blanc?
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Explain how vou got vour answers.

m+ Q\O!\c_'-_-. C&;L{Bj-‘-’-‘

mt Kili mcn;\cr'o = %07+ 1083

22) Car Wash You are working at a car wash to
raise money for a charity. By the end of the
day, you raised $342. You charged $6 for each
car wash. How many cars were washed
during the day?

Ki: 46/car
Mee.c‘ $'3""7-

Define a variable: = ¥okcors

Write an equation: u = 342
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& e
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H
Answer in a sentence:

"They wieshed & F cors.
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Algebra 1 Mid-Chapter 3 Review

LESSON 3.2 Practice B

1)

3n + 14 = 35

w7

LESSON 3.3 Practice A

Check whether the given number is a solution of the equation.

1) 6x+1-5x=7; 2 3 lex-6)=1; 1
()4 —~S(2)=7 A N=1
2%l ~to =7 2\5&0? 2(8(‘) b) .
. -{(‘Z..)=l 4 isa
3 *7— JSQL\J'\‘\UAJ (=1 Solutiun
More equations.
{10) 3a+2a+7=12 17} 6w+5(w—2)=23
A:\ W= 3
18) 7-3(x+2)=4 20) @6)=4
3
Tm+3=4
Xé:\rﬂ =23
=]
C: S5 (e+e)="1
=+ (i1z) = 4
3
X=-| ¢4, M=k
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Algebra 1 Mid-Chapter 3 Review

LESSON 3.3 Practice A (continued)
Find the length of each side of the triangle or rectangle. Write an equation!!!! Show your work!

22) Perimeter=17feet (. 41545 =17 23) Perimeter = 18 meters
17=47
xm
2(3_})@ me
Ea. X~xTX +5 =V

e EQ:  g(ax) +2(x)=18

LESSON 3.4 Praclice B

8) 4w+3)=w-15 1y 7+x=1@x_2
2

K=k
w= -9
Find the perimeter of the square. Write an equation!!!! Show your work! Units are in feet.
16) D o |18 e L0
5x-% <3 x5 = 2X
wi 5x-8 5 _/Zi &+ Tx~ 15 thS NI |
S ()~ = G5 S zks
iz ¥t 2ZX~% O T Gt —2x -Zx
/~ ol +§  +¥
.4 S12% <5 T/ 27 =64t \‘.E_g-lS
A7 "j’f
P:Lz.'4=‘t3 @ p.:a,.tlsz‘-} )x=3’
x=4
ﬁ'\Per?Mckr H? £+ \!PQP7M¢+E’P7.‘& 24§+ \
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Algebra 1 Mid-Chapter 3 Review

LESSON 3.4 Practice B (continued)
19) Saving and Spending Currently, you have $80 and your sister has $I45 You demde to save $6 of
your allowance each week, while your sister decides to spend lisrwe allowaneeply
week. How long will it be before you have as much money as your smter"

KI: You S{3ter
$yo $14s . o
Weekly Swve § Weekly Bpend un
%- b & sl'l‘ hes WNa MONE\’

Define a variable:

—"u Number of Lseeks

You = Sisie 3 amopnt of mon
Write an equation: _ .
EQR: go+ bx = I45 -Ix e go4(ls) =S
47X + 71X #lo =
VIR SIS
IR ARSI <
Answer in a sentence: l f’as' )( =5
F\-&‘-kr g Weeks Y Ow end Y o sw-kf- Wil heue
—the Seme amound ot muvey (F770 N,

LESSON 3.4 Practice C

1 =
17) 5(6?6; =23 32) 50 = 4)+2x=-2£a:16)
?x-\-l:?ﬁ‘g X - x:'-fx—&
a2 T yx 7/: -5
4 -s =
—g -5 /
],_X: No %or_o'nag HLL Ren C
NUMBFQ-S
13) 2(8x — 4) + 20 = §'E;c+4) e J_]:,Sﬁ)’-qj 420 = '_'>E‘?f°)*‘r_l
X —§ +20 = ISX¥12 -Z(._qj 420 = 3(4)
ll[ggx-l-\z.- lst”- j2 = 1z
= V-
x:\‘: e
(X =0
p e
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